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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Define any Seven: Fluid, Pressure, Vacuum, Pipe, Turbulent Flow, Laminar
Flow, Viscosity, Porosity, Cavitation.
Describe inclined manometer.

Write a short note on Continuous decanter.
Describe wake formation.
OR

Derive Bernoulli’s Equation.

What is the significance of Hagen- Poisuilles Equation?
Describe Friction factor chart.

OR
If inner dia of pipe is 3cm and length is 5m. The specific gravity, viscosity and
velocity of fluid is 1.5 ,3cP, and 3cm/sec respectively. Find Reynolds No., type
of flow and friction factor.
What are the uses of contraction, expansion and bends in pipe?

Draw a detail figure of Globe & Gate valve.

Describe construction and working of centrifugal pump.
OR

What are the characteristics of Compressor and Ejector?

Write about the different methods of flow measurement.

An open reservoirs contains a liquid having a density of 1.3g/cc. At certain
point the guage pressure is 30kN/m?. What height above the given point the
liquid level is?
Derive an equation of Venturi meter.

OR
Draw a detail figure of Fluidization bed.
What is the industrial application of conveying?
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